Econ 1A: Note for Chapter 3

Specialization and Trade: Example

Assumptions
1. Two persons: Liz & Joe
2. Resources: Liz: R = Rm + Rs = 60 min. Joe: R = Rm + Rs = 60 min
3. Technology:

Liz: 1Om every 2min, 1Qs every 2 min
Joe: 1Qm every 10 min, 1Qs every 2 min

4. Production possibility
Lizz Qm = 60/2 =30,Qs =0/2 =0; Qm =0/2 =0, Qs = 60/2 =30
Joe: Qm = 60/10 =6, Qs = 0/2 = 0; Qm =0/10 =0, Qs = 60/2 =30
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Liz's opportunity cost
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Liz

1AQs/AQmI = 1 = Liz's opportunity cost of producing 1Om is 1Qs
IAQm/AQs! = 1 = Liz's opportunity cost of producing 1Qs is 1Om

Joe

IAQs/AQmI = 1 = Joe's opportunity cost of producing 1Qm is 5Qs
IAQm/AQs! = 1/5 = Joe's opportunity cost of producing 1Qs is (1/5)Qm

Comparative advantage (CA)
Liz has CA on Qm because I1AQs/AQmI (Liz) = 1 < 1AQs/AQml (Joe) =5
Joe has CA on Qs because I1AQm/AQs! (Joe) = (1/5) < 1AQm/AQs! (Liz) = 1
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